
Wednesday, December 5,1990 EXCA1IBUR 13

For Pete’s Sake by Roe
vu£ o fte«u seem cRiKT
TO KUOWJ wWAT AifsthC
rneorH€R's
THffJKiM...

UlAlf-
H0d> IT. 
rruos/dC,
V(X//Z S/ffA/At...

^ oO-

Y'Ksiou, ue it<Auy
Ç>0WVI£ Arti£PA71ffC

geL^riDfj^ie-

U>6fCP, HUK?

tH/aJK, 
AU«^/\J '3 \ \

1 W'»*w '**"■

r?»gi

m,f

It k* 'O’I
Stk

X I!X

V> £
5VOLUME X:

Ay David Gardner
mL rx.ïlr,..&*Trr&A ut—

I SflO "Of&j SCCA1 - j /

"0A?M soo^7/) [
^ I
s>X ^

-Tie/te: Mri'MiA iro a ) 
n\fts6iue pu&' /p —^

»
lUflSK OTQttM- ttotéy
if ya)t&.(ref?__J

j HeyTow/Trie 
J wew stud^mt 
LÀ oeww vuiu.

/l-V gg Oft/UScM
rFar be it from the ever-expanding 

mind of our proud, puzzling 
pinnacle, The Riddler, to leave 
you all without a holiday gift of 
sorts. So here he leaves you three 
seemingly simple sequential 
quizes.

If you complete all three within 
15 minutes, welcome to the 
intellectual elite! For 30 minute 
solutions, count yourself among 
the billions of faceless average 
people. For those who have not 
completed all three within 45 
minutes, better ask for some IQ 
points this holiday season! Good 
LutIA York logic professor pos­
ted a notice on her class door: 
“Class is canceled today on 
account of snowstorm. We will 
meet again at 1:00 pm three days 
after two days before the day 
before tomorrow.” When does 
the class meet next?

2. You’ve been standing at a bus 
stop in the previously mentioned 
snowstorm. You are not sur­
prised to find that the TTC 
service has become quite spor­
adic. You wait 15 minutes and 
then a group of buses came along 
together.

The first was too crowded, so 
you took the last. There was one 
bus ahead of another bus, one 
bus behind another bus, one bus 
behind two buses, and one bus 
with two ahead of it. What is the 
smallest number of buses there 
could have been in the bunch?

3.One of The Riddler’s many 
talents is prescience, and he 
often enjoys employing this 
ability to make life for others 
generally miserable. Three aspir­
ing law students made the mis­
take of criticising The Riddler's 
fashion taste, and as punishment 
he told each of them how much 
longer they were going to live.

The Riddler said, “You have a 
total of 130 years left among you. 
The oldest has already lived half 
his life; the second oldest has 
lived one third; and the youngest 
(already balding quickly) has 
already lived one third of his life.”

How old were the three 
students?
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Answers to VOLUME IX
1 Cross the second vertical line 

at the top to make 10 TO 10, or 
nine-fifty.

2. April is six, May is nine, and 
June is twenty.

3. There are 100 different pairs 
of two digits (00,01,02. . .99) Ten 
of these pairs favor the stranger. 
The chance of seeing double 
digits on a plate is 10/100; the 
chance of NOT seeing them is 
90/100. The chance of not seeing 
double digits on eight consec­
utive cars is (90/100)8, or 43 per 
cent. Hence the stranger, who 
turned out to be (who else but) 
The Riddler, will win 57 per cent 
of the time.
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